@ SGL) ./ETOC: S{Méola‘r/&_ . Agj}m/ Q. "]I‘Q)(o dP #n[o recg pr”/’f_
A8 4964.40° L;ZA//

: — 3322 bLita
Ta -R)fym&(‘,w /e/gwaw’fo.:z /@Zw_— > 2 LI

e
In-gorw&ﬁé/?uocj/b = 3/32x 300 000 = 386 6 X/O%

44 72-# - E€nlropio-
= = ) e - 4 loa 2 + )
e Zﬁa ﬂﬂ% o (z “ p- Al

e & J a /6 J 7 §_£ ’%j 52 +Z:4—“ /&&? 64;'_1_3_1\
4 =

4,

<



h) - =<
__0:_,+A..Q-_‘»J+~/~4%l_5~#“/__6_{,/ N
2 28 /6 52 6o >
2+ L.s
7 32 33 2325 32H2+ 6 + Sr3+35 3 Lits,
32 320 7
o'z

myq

M 5

- &3 0/[3 S Fos Lineroo ! (:-’ H M))

32 _—



Eﬁ'oe;@% 7——‘3 Hlm) | @
_ Xl0o0O = )

QPJU/&J&”-;

~en ‘bo/Q =

{14'2-2 H(m): - Z% @ﬁ?f -

p- E[)qg
< B+ 94
[ 3?‘7 /@343_226’3“
03 (J’j{?’ui PfﬂQfa)

e S g
M@n 302 ann _@\o babilidste
] .
5 20 % 0O
B Bt A
s /
/s " ) o 5
Y3 24 4
y, e el
oy [224




- |
Z,:* Z@Zd= é,ﬁ+i,i+i.2+_;£.2+_l..3+/ 22
o 3 5 3 9 27 23

J .z ﬁj6+ 24+95
2> 23 e =

55 (/51 %5 Hopes, o)
Z >
o 43

o7

é_:v[i(;\and@ - |t
e )ZM /Z( ) B A/ - looX

\!

QPQ/UVYO/&/'C@\ f M.//): %

—

?4 f

@bcg):%

B= £(). doy 4 Pl fos U
D D LI 3+ 2 0oz



Hﬂ(’_ﬁ,i\' /)(Jc,f)/a) = /i/\/,ix,),ﬁ(ar,) )
/a,/m)

= 2 3 )
/5 Z 45 D
=, 3 iz

% G
P(Dcz/yﬂu" lo(yll)g) /)(JCJ _ 1 2. 4 Ar 3
Clyy) iz, — 5 /3//
45
/)(Xl />’2>; f(yz/)(,> *P(Q‘,> - 4/3 ’ ﬁ/z [ 4r 5:/
T3 32 Ao
P(yz) 32} - %
Ploce 1y, - £y, /xz)‘ﬂ(xz): *%X{ 7. = ar _ 27
Ply.) 3, T %% Tm
H(x()/o)= p(X,/YD' /Q,O()__d___. -+ /)(DCz/M) /&C; B
Ié(;q ly,) Iﬂ(lzlyf)‘)

B e Sl - 077




- S oy, 32 ‘
32 v =+ ZF B
22 Oy.32 . Q62 g
23 o
H( -
chy)- /)(yg) ,,H()c\y) Ply, ) .
“ 1) = Mly= )‘/(J(/
s b .
g5 T 9
213
= O Géﬁ/é’sz
/
/H(xl\/) 0 6653 5%,[
B 2
y sz,mo o
=13
P/y,) s &32 *{‘Sf‘"’ s
/3 ;’j‘?g?fzgg
52

H(y /96)
j) I(JC >/>._-—;. 06’6 73— 02464

yOe/_)_@s A»Q



€ /)(ya) =P

e ID(yz): Flys)- (Q/

R |
(/) Ca*(/'/a)(Q) y

Vremes: SE® VA (. (y)) g f/%-/h*) £(x,)

Fly;)

0 obfemss a met e

F(k/yJ> > [) 0 O
[O ¢ 47‘7 T

0 1y o

0= [0 Pl oy 4 =P loy P-20 Loy
lx,) J

. -foj@f - (4-0) Do, (_4;)7 “ LA (4=
(Log2=4) A




Y, /O(ac,-/j ) Vs
up/@/oaﬁJer fZOa“_L+(4’ﬁ)QOJ__Q—__ +
£ (4-p)
~(—QQ (4-/9) /&5 i) < p Eﬁd“_i]
1-p r
~O+2d p

Tl = 0 (e) +(1-p) (- Lo )




@

d T (xly)-
L (le)'* O_? [ﬂ//’) «(d-f) (4-45 /3)120

o F by

-
v
J;[Fﬂ@ [t 80— (1-P) Loy (4-0) (4L, )] O

ft= P pee Loy £z
s ‘ 2
i ’[ QZ:Z?%FY [O 5 %







